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1. �����	
��
��������� (�����	������������)

#�$��%� ������	������ �!"��#	!$��%�	
��
�������	�$�&��'	��	�(���� �)* � �%�+
�#"�'*��,-��*��"��� 

�������	�$�&��'	��	�(�� 
&���������
��������������' .�� 
��������(/"(��	"�	
��	&�����0�����,*�1�#	,���	
��	&���� 
�0�����,*�2�� "(,�
��/�+
.�� y = ax 	"�/� a 	
��7�� &8/��#12%����	
�� 2 �,-(.�� 
(1)  a  > 0 �#	
��
�������	'*/"
(2)  0  < a < 1 �#	
��
��������� 
	',�#;#�� � ���������#+���%���� �. 	
��
��������� ����()
 �.

2. �0�!��
������� f(x)  =  6x + 2x ? 3x + 1 ? 3 A�� A 	
��.0���2���)"��, f(x)  =  0  �����A������ 
(�����	������������)
#�$��%� �%����/��!�!�.0���2���)"��, f(x)  =  0  	)(��%������( 

�!� 6x + 2x ? 3x + 1 ? 3 = 0
2x⋅3x + 2x ? 3⋅3x ? 3 = 0

(2x ? 3)(3x + 1) =   0 
 	',�#;#�� �.0���2���)"��,�(/	
��+
+��.�� A = x = log23

� '*��,-����	���� �.
���)"��, A2y2 ? 3Ay + 2  =  0 

 �#+�� (Ay ? 2)(Ay ? 1)   =   0 
 ��/�.�� y(log23) ? 2 = 0 !,�� y(log23) ? 1 = 0

	',�#;#�� � y = 32log
2 !,�� y = 32log

1

����� � F�2���� �!"����.0���2���)"��,.�� 32log
2 + 32log

1 = 32log
3 ��� �. F*�

� '*��,-����	���� �.
���)"��, z28A ? z⋅4A + 1 + 3z⋅2A ? 12   =   0 

 ���,�
)"��,������!"%�����,1��.%� A  =  log23 ����)"��,�$�#+���%�
z2( 32log8 ) ? 4z( 32log4 ) + 3z( 32log2 ) ? 12    =   0 

 z2( 272log2 ) ? 4z( 92log2 ) + 3z( 32log2 ) ? 12   =   0 
 z2(27) ? 4z(9) + 3z(3) ? 12   =   0 
 27z2 ? 27z ? 12   =   0   �0� 3 !�,�����#+�� 9z2 ? 9z ? 4 = 0 ����� �1�����
,#��2 



�#+�� (3z + 1)(3z ? 4)   =   0   ��/�.�� z = 3
1− 1�# z = 3

4

����� � F�2�����.0���2���)"��,�( 	�%���2 3
1− + 3
4 = 1 ����� � ��� �. A������ 

� '*��,-����	������� ..

	��/����� g(x) =   2x
32log = (log23)x? 2

)""�*�!� x1 < x2 ����(/ x1, x2∈ (0, 1)   �#+���%�
x1

? 2 > x2
? 2

(log23)x1
? 2 > (log23)x1

? 2

��/�.�� g(x)  	
��
���������2��%�� (0, 1)   ����� � ��� .. F*�
� '*��,-����	������� �.

	��/����� k(x)  =  (log23)x2 + 4x + 4  �#+�� k′(x)  =  2(log23)x + 4  =   0 
 	',�#;#�� � x = 32log

2− 1��.%� x ���� k′′(x)  +������( 

k′′( 32log
2− ) = 2(log23)  > 0 1)���%��(/ x = 32log

2− �0��!� f(x) "(.%��/0�)N�)�"'��O� 

1�#+��.%��/0�)N�)�"'��O���� k(x)  =  (log23)( 32log
2− )2 + 4( 32log

2− ) + 4

= 32log
4 ? 32log

8 + 4

= 32log
4− + 4 ��� �. F*� ����()
 (.

3. �����	
��
��������� (�����	������������)
#�$��%� '*��,-����	���� �.

)""�*�!� x1 < x2 �#+���%�
1x3 < 2x3

log( 1x3 ) < log( 2x3 )
��/�.�� y = log(3x) 	
��
�������	'*/" ��� �. F*� 
'*��,-����	���� �.
)""�*�!� x1 < x2 �#+���%�

3x1 < 3x2

log(3x1) < log(3x2)
)1x3log(2 < )2x3log(2

��/�.�� y = )x3log(2 	
��
�������	'*/" ��� �. F*�



'*��,-����	���� ..
)""�*�!� x1 < x2 �#+���%�

1x2 < 2x2
1x2)x(log < 2x2)x(log

��/�.�� y =
x2)x(log 	
��
�������	'*/" ��� .. F*�

'*��,-����	���� �.
)""�*�!� x1 < x2 �#+���%�

1x2 < 2x2
1x2)x(log < 2x2)x(log

( ) )1x2log(
2
1 > ( ) )2x2log(

2
1

��/�.�� y = ( ) )x2log(
2
1 	
��
��������� ��� �. A������ ����()
 �.

4. ��!���	"�1�#	,������
������� f(x)  =  10x ? 1 + log x 
 #�$��%� 	"�/�������,!���	"� �*O(�(/�%���(/)N�.��'*��,-��%�.%��#+,�(/1������
�������+"%+�� 

���(/�( .%� x �(/1����+
+"%+��.�� x ≤ 0 (	',�#�#+,?)  	',�#;#�� ��8�+���%�
��	"����
������� f(x)  .�� (0, ∞)
�%�+
	"�/�	,�������,!�	,����$���0����	�(����� 	'(��1�%�#����!��%�	"�/�1�� x �(/	
��+
+���� 
+
1��� �#�!�.%� f(x)  �#+,2��� &8/����(/�( �#	!$�+������%�+��1�% R ����()
 +�,��-%�!
���
./�!)
� 

5. ��""���S�',��)(��*�!�8/�"(.%�.,8/��(�*� (half ? life) 500 
W A���* �)�,�( +�� 18,250 ��� ��!��%�)�,�( �#"( 

,*"�-	!���	
���(/	�%����
,*"�-	,*/"��� (�0�!�� log 1.07 =  0.03  1�# log 1.10 = 0.041) 

 #�$��%� ���)��,�(/�0�!���!�.�� �����N = n2
1 ⋅ ��������N 1�# n =

������ !��
�"#"�!�$

1��.%�����)��, n =
������ !��
�"#"�!�$ = 500

365
18250

= 500
50 = 0.1  �#+���%�

��������N
�����N

= 1.02
1 = 2? 0.1 

�)% logarithm �� �)���������)"��,�#+�� 

log(
��������N
�����N

) = log 2? 0.1 



= ?0.1 (log 2)  =  (?0.1)(0.301)  =  ? 0.0301 

 log(
�����N
��������N

) = 0.0301 

 �#	!$��%� 1.07  <
�����N
��������N

< 1.10  	',�#;#�� ����(/�( F"�#����*O(	�(�22�\\��*+�,���]�	'�/� 

!�.%� antilogarithm ��� 0.0301  ����0�+������( 
.%� logarithm 1���%����� 0.041 ? 0.03  =  0.011  .%� antilogarithm �%����� 1.10 ? 1.07  =  0.03 

 .%� logarithm 1���%����� 0.041 ? 0.0301  =  0.0109  .%� antilogarithm �%����� 011.0
0109.003.0 ×

= 0.03 
 ����� � log(1.10 ? 0.03) ≈ log 1.07 

 �#+���%�
�����N
��������N

= 1.07 

 ��/�.�� 
��������N
�����N

= 07.1
1 = 0.93 ����()
 -.

6. �����.���,�
���
��������� (�����	������������)

#�$��%� ������	���� �. 	
�(/��,�
�!"%+��.�� y = ( )x21 &8/�����*��"���
�������	�$�&��'	��	�(���0� 
�!�+���%�	
��
��������� (	��/����� 0 < a < 1 �8�	
��
���������) )%�����	������/�^ 	
�� 

�������	'*/"�� �)* � ����()
 �.

7. ��!�)"��,���	)��)�"F�)	)���.�� y = 2x �(/�N� (3, 8)  (�0�!���!� y′ = ax ln a  	"�/� a ≠ 1 1�# a > 1) 
 #�$��%� ����*��"���.��"������	)��)�"F�)�#+���%�

.��"������	)��)�"F�)	)���.�� = ��N'��O������2!�8/����
������� �#+���%�
m	)��)�"F�)(3, 8) =   23(ln 2)   =   8 ln 2 

 �#+���%�)"��,���	)��)�"F�)	)���.��.�� y ? 8 = (8 ln 2)(x ? 3) 
 y = (8 ln 2)(x ? 3) + 8 ����()
 +�,��-%�!
���
./�!)
� 

8. �0�!���!�	��S')�"'��O�	
��	&�����0����	�$"2��, A(x) : ∃x[xlog 2 > 1], B(x) : ∀x[xlog 2 < ? 1] 
 ��'*��,-��%������	
���,*� (�����	������������)

#�$��%� '*��,-�.%�.��"�,*����
,#��.	
c� A(x)  �!� x = 3  �#+���%� 3log 2 > 1 &8/�	
���,*�
�%�+
'*��,-�.%�.��"�,*����
,#��.	
c� B(x)  �!� x = 3  �#+���%� 3log 2 > 1 &8/�	
��	�$� 
���),N
 A(x) 	
���,*�S�����	��S')�"'��O��(/	
��	&�����0����	�$"2�� 1�# B(x)  	
��	�$� 
S�����	��S')�"'��O��(/	
��	&�����0����	�$"2�� ����()
 (.
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1. ��'*��,-��%�
������� f(x)  =  ( ) x232− 	
��
�������	'*/"!,��
��������� 
#�$��%� ���������( �#������]����,���,�
���)"��,�!"%�!��,���",�
122���
�������	�$�&��'	��	�(�� 

&8/��#+���%� y = ( ) x232−
= ( ) x2

3
2




 −

= ( )x94
�#	!$��%� 0 < 9

4 < 1 1)���%� f(x)  =  ( ) x232− 	
��
��������� !
� 

2. �0�!���!� f(x)  =  log2x,  g(x)  =  log11(x ? f(x))  )0�!,�2�N� x &8/�	
���0����.�%2����^ ��!�.%���� 
fog(128) 

 #�$��%� 	��/����� fog(128) =   f(g(128)) 
 = f(log11(128 ? f(128)) 
 = f(log11(128 ? log2128) 
 = f(log11(128 ? log227)

= f(log11(128 ? 7) 
 = f(log11(121) 
 = f(log11(112)

= f(2) 
 = 1 !
� 


